g % QS| ofd 227

@ 3x> -4+ 2x @ x-2<x+x’+1
3 -1

®§+x2x3 @ 3(1-x)>x+7

® 1-2(x-3)<4x+3-6x



o AR5

=
K

o4 a7t b she?

@ -2x>-4

@ x>2x+2






4.

HEA 5y -7 < 2aS WHESHE 9] Hgizto] 34 o, ot
a®] & vt=A Aot Ae Stk

o
ofn

+r



H7F A2 g2 o,

9]

B x-2a<3x -5 BS54 —x-7<39

A4 a®) g

stofet,

:[L

O
=






Al 4x—2(x-1) > 6x-10 & T=ZA 7] =

@1, 2 ® 2,3



o =

o =
», i

Mo ot

=]
=
?

=
o

Al
l

ax+8>0°2 7t x <1 L W], 5 a o] GO 2

@ -5 @ 8 @ -8 ® 10



g
o
o+ R
ay BN
ol mr_e
s
A K
T )
o Nl
P
KO )
)
m_r,_ To
[ife) Z..__\
1
=
R ol
ol MAT
Sl %
A T
71_712 2<_
G
+lo Y
- +
CON
Hlo H
il I N

3@ 12 @ 13 ® 14

11

D 10



3t A x o] ghol 3707t H IS



